Andhra Pradesh State Council of Higher Education

Notations :
1.Options shown in green color and with %" icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Question Paper Name : Agriculture and Pharmacy 19th May 2025 Shift 1
Subject Name : Agriculture and Pharmacy
Creation Date : 2025-05-19 14:59:39
Duration : 180

Total Marks : 160

Display Marks: No

Share Answer Key With Delivery Engine : Yes

Change Font Color : No

Change Background Color : No

Change Theme : No

Help Button : No

Show Reports : No

Show Progress Bar : No

Agriculture and Pharmacy

Group Number : 1

Group Id : 64041153

Group Maximum Duration : 0

Group Minimum Duration : 180

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 160
Botany

Section Id : 640411178

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 40

Number of Questions to be attempted : 40

Section Marks : 40

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 640411178

Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 6404118321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In Herbarium sheets. label provides information about
rgeano HeS, HBesy Hhup DS oD JEPPE0 G0LNos.
Options :
vegetative and floral characters of the plant

% g @y 80D Hbakn i) ey 160D

habitat, distribution. root system and height of the plant

e s Tt =R e T T W e ey ™ 4 L e T
BaI®rdeldd, cuc\.gijS._ c.maﬁar’q sudain C:C-.xd_ oJi8) gvialels!
g 3 ~5

2. 8



date. place of collection. conmmon name and family of the plant and
collector’s name
an, ;gs_o'cci'}& tHbod Harortsin ;DS’C P08 wrdihdin, Henondn H6cH DEB0DS

G)

;¢ O e

All plants specimens preserved.
4 % DODTT0GN o) SnEHe SSrTe

Question Number : 2 Question Id : 6404118322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following fimgi. which are placed under class Dueteroniycetes of
Fungi ?

(dlternaria, Aspergillus, Mucor, Claviceps, Penicillium, Trichoderma,
Colletorrichum, Ustilago, Polvporus, Puccinia, Agaricus, Newrospora, Albigo
and Rhizopus)

& (Bots minS BBopred® “tySEIha 35" S5r88 Josd 3dolmeen

(s9Q)0atr, sK)0uR, Hrys°6, FORE), DAL, [PHGoy, G5By, cvfed
PO, wS\ﬁa*m, erPoEs, r‘ci?“&’c .@:UO ﬂ-ge%_ﬁv SoBcsn %)

Options :

Alternaria. Trichoderma and Colletotriculim

%\ﬁ alov af‘amé 6o B8 @3,5,
1.v

Alternania. Puccinia and Neurospora
@gﬁ;@oﬁ.m, éé&?} = Sbokn SegEtRhTe

Mucor. Albugo and Trichoderma

. SegeB, weyf® Soa By

Ustilago. Polyporus and Agaricus
A% Oi})?)uawﬁe._ OFFEE Sbch ertsh

Question Number : 3 Question Id : 6404118323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the incorrect statement among the following

BobardE® 5852 axgagi® HBoSosd

T, The present era 1s called “Golden era of Biology™
(3508 ol av'w FR8 Doeodoild RPdnio woird.
1L Sexual system of classification was proposed by Theophrastus.
HATEEER Bohd SH8BED (HBFHOTLD.
III.  Study of Amplibians of plant kingdom are called Bryology
3 8oreod® egfobdvre MHB0D wiiebdo HabueR) [EErea wotrd.
IV.  Recycling of nutrients takes place by parasitic petroplants,

=S . " e
Soeands s e 9858 Horore Sosdoho Doron.
Ry & i f e AT i

Options :



1. %
L % ILTI
. IV
3.
IL IV
4.

Question Number : 4 Question Id : 6404118324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Algae will increase the level of dissolved oxygen in the
immediate enviromment.

2o (A) : Bderen 7D ey HHe srerdlmod® EBAN &S RO
TIoihEron

Reason (R) :  They form the food for aquatic animals.

=m0 (R) : 3 H8 modPeD wiPbore Gotron.

Identify the correct option from the following
Bot &BE° XBS wASeY HBoSos
Options :
(A) and (R) are true. (R) is correct explanation for (A)
(A) shoon (R) G852, (A) 8 (R) 8B35 256,

1. ®
(A) and (R) are true. But (R) is not correct explanation for (A)
(A) HBa%n (R) 4852, (A) & (R) €02 2:50m =h

2.¢¥

(A) is true. but (R) is false

s (A) %038, =0 (R) 4026 =th

(A) is false. but (R) is true,
L x (A)3536 =, =0 (R) 5930

Question Number : 5 Question Id : 6404118325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the plants from the given list which have hypogynous flowers.
Mustard. Cucumber. Brinjal. Plun. Rose, Peach. Guava. Sunflower and China
Rose.

Bob mdns Tnge HEI6° “@od?@{;ﬁﬁ@:é“ 53
waren (Mustard), Hhows, Dosed (Hoif),
Ho0n Bt'S (Ghomed)

Options :
Guava and China rose

D By Boet’E (Siowed)
1. 8



Mustard. China rose and Brinjal

) @ BT, BrOE HBak Hoif

Plum. rose and Peach

55, 658 (Heed) Hbam 85

3.8
Guava. Cucumber and Sunflower
s, Hdoab Hboiu drdgsroso
4. 8

Question Number : 6 Question Id : 6404118326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Three plants. Mustard. Calotropis and Guava. are collected. There are 30 nodes
in Mustartd. 30 nodes in Calotropis. 25 nodes in Guava are present. Find the
number of leaves put together in all three plants 7

waren, B0% HO0 epd 3 Sve IwHeH DsdowEn. T8 e Ingst 30
Seansden, D" 30 Sexen SO s FwEE® 25 Swoden savon. wondT® ©
S e Inged® 0D oY) Sere Gotron ?

Options :

140
1. ¢

160
2.8

3 % 180

4.%

Question Number : 7 Question Id : 6404118327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Match the following

List-T List-IT
565 -1 H85 -1

A) Vivipary I) To lower the environmental stress and
Db to establish plantlet

2000Pe e.80 SR0UBEPAS Hoa
e g %;ééé}
B) Parthenogenesis IT) In diploid organisms specialized cells to
mohgsss0 undergo Meiosis
hohRes €3G & BT e
SohE8n dFedn SRdean

C) Meiocytes ITT) Bamboo flowering at the end of the life
@ e Dot £ DBO IS Hiparon

D) Perenmials IV) Development of embryvo from
057 TEeD unfertilized female gamete

PobEsmo Dot & Sodmrs duo
Hod) Bodo 2
Options :

A-T. B-1, C-IIL. D-IV
1. #

A-TII. B-II. C-IV. D-I
2.8

A-I. B-IV. C-II. D-III
3.

A-IV. B-IIL. C-1. D-II
4. 8

Question Number : 8 Question Id : 6404118328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Match the following
(BobarRR exedddothsim

List - 1 List - II
(Pollination) (Mechanism)
S5 -1 $%s - 11
(S ‘éoéé&éaa) (S0 (BES0)
A.  Xenogamy [.  Exposed anthers and stigmas
D) HEST Sodw Eoren, &em(rren DsFPE0.
B.  Ophiophily II.  Genetically different type of
2.5&P0 pollen grains
&3 "556607'? 2 Bz Hoeitraes
C.  Chasmogamous III. Flowers do not open
DY So&ril Baren Darywe HEvoTD
D.  Cleistogamous IV. Pollination by snakes
Hos)8 So&=i a0 e oo ST Hoddn
Options :

. A-IV, B-1I, C-III, D-1

1.

. o AL B-IIL C-I, D-IV
A-IL, B-IV, C-1, D-III
3.¢

A-IL, B-1. C-IV, D-IIL

4.%

Question Number : 9 Question Id : 6404118329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the floral formula of the followmg characters.
Ebracteolate., United perianth. pentacarpellary syncarpous, zygomorphic.
superior ovary, bisexual.
Bob egmseen 583 ) Jo8so HhoHod.
ognHHBirdo, Joony HoHBo, HodPesE Hoaingo, rES rgsohudo, &gy
worrdobo, fyboriso

Options :



Ebrl. C(5).G(5) %. @

Ebr. (K).G 5 ©.07
4% &)

Question Number : 10 Question Id : 6404118330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Statement I -  Lysosomes were found to be very rich m hydrolytic
enzymes.

woddn - 1 BPEHes TEBAE doBMe $EYQT sotran.

Statement II -  These enzymes are optimally active at the basic pH.

wodSo - II & JoEDen 56 pH 5§ agsson: HDTpaw.

Identify the correct option from the following
\Bob ard&eat 533 £OEeY rHBoSos
Options :
Both statements I and IT are correct

| & ©OTwW I so8ain 1185852,

Both statements I and II are false

woseen [sBasn I SBa3 seih.

Statement I is correct but Statement I is false

B0H50 IwOm(ﬁl = I w{_j W6 S,
3. ¢

Statement I is False but Statement IT is correct

. wodnn 125058 seeh, =20 1150356
4. - -

Question Number : 11 Question Id : 6404118331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct statements among the following

B0t RE” DOGHN Trgned hbothan.

I Quasi-fluid nature of lipids enable lateral movement of proteins.
o (65 @@'&qﬁ &) DHE &5, (£rAS e I Ry SEDSeH Den SOAHOE.
II.  Mitochondria and chloroplast constitute endomembrane system.
DeSroldab Hbaty FOSOmHen woSBHS 3 5’,6&:\. grTreD
II.  Phosphate granules are not membrane bound bodies.
c?:wo VS Bravshen Smigssgod® o DD BINES Brven SPH.
IV.  Centriole is a component in all cells
20B@EPS @) Swred® grrsn
Options :

| %« landII



I and ITI

II and III
3.8

II1 and IV
4. 8

Question Number : 12 Question Id : 6404118332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following

(Sob 7RO edithan

List-I
65 -1
A) Glycosidic bond
N&° 288 ogsn
B) Hollow woollen ball folding
EPorrid) den 008 Db

C) Enzyme
OB
D) Esterbond
256 wotio
Options :
A-TI. B-1. C-IV. D-III

1. ®

A-TV, B-IT1, C-1. D-II
2.v

A-ITL, B-IL. C-1. D-IV

A-TV, B-1. C-IL. D-III

Question Number : 13 Question Id : 6404118333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

List-I1
568 -11
I) Trypsin
B89
IT) Bond between phosphate and

5™ carbon of sugar

PN HInorah, HEaH SHIE*D
5 3% 88%08° Sendd wogo

III) tertiary structure of protein
ErPAS B Grso

IV) formed by dehydration

58 srd® Ak Sohe



Arrange the chromosomal events of meiosis in a sequence.,
Eahsten Dgmsdd” Bara Sned® abh It S50 [EHSn eddnEn

il Disappearing of nucleolus
BolsrodSn 855655
11 Appearance of recombinating nodule on chromatids
EErdE D Sodras Sae 0\
III.  Termunalisation of Chiasmata
Sairime w08 JBLsn
IV.  Pairing of chromosomes
8B smen esfenre D06
V. Dissolution of synaptonemal complex

RTEPmS Sofdo SHibe

Options :

ILOLIV.LV
1. %

LV.ILIV. I
2. %

IVIILI V.1
3. %

IV.IL V.IILL T
4.4

Question Number : 14 Question Id : 6404118334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following

|Bof Zrad exddDahan

List-1I List-T1
363 -1 58635 -11
A) Mechanical support at young stem I) Sclereids
and leaf petiole thE8eren

Sdsomrdl, HEHoTs

cirolSE eprdsn

B) Cells in fiuit walls of nuts II) Stem vascular bundles
205 Fesdrodtn Smeen ToSTOSe Hosmen

() Cells absent in primary phloem III) Collenchyma tissue
[Feans £E5E Smerood® 82 Swren Grosin Searoo

D) Endarch primary xylem TV) Bast fibers
w088 (2D Ty 535 (EREDE wRthay S50 Srmreaeten

Options :

. A-TIL, B-IL. C-IV. D-1



A-TI, B-IV. C-1. D-IIT
2. %

3 A-TIT, B-1. C-IV, D-II

. A-I, B-III, C-IV. D-IT

Question Number : 15 Question Id : 6404118335 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) :  Trichomes help in preventing water loss due to
transpiration.

240 (A) (B8 erdh@Fo oxoe =00 18 ST w08yEed
S eharon.

Reason (R) . The specialized cells near the guard cells together

constituted stomatal apparatus.
=i5es0 (R) 1 655 Seren orOY DO £00 ©HR0GE Swrod 599 HlEsols
28850 wotrEd.
Identify the correct option from the following
Bob rBE° 5B nYsERy HG0S08
Options :
(A) and (R) are true. (R) is cotrect explanation for (A)
(A) SBa%e (R) 5859, (A) & (R) 585 9566

(A) and (R) are true. But (R) is not correct explanation for (A)
(A) 9605 (R) €052, (A) & (R) #85 Da0m 2

2. %
(A) 1s true, but (R) is false
(A) #5056, =2 (R) 4050 =th
3.8
(A) is false. but (R) is true
L % (A) 5856 =, =0 (R) #8356

Question Number : 16 Question Id : 6404118336 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Choose the correct statements among the followmg :

Bohards® HOES arageR DB,

i, Phellogen made vp of narrow thin walled rectangular cells.
LS SYmr SerS SnsSored MR BG5BT 6F) S Swro
88 sotwol.
1I. Soft Bark 1s formed early in the season.
s BE® 5 S0oHT DGHHOE.
III.  More xylem vessels with narrow lumen are called late wood.
30 sdsrdten, O8N rdarsren S8 Al DOty Botrt.
IV.  In isobilateral leaf. mesophyll is differentiated.

SDERErEdigod’, HErosto DPEH0 Bob GoLNod.

Options :

L Tand II
II and III
2. 8
III and IV
3.8
4% Iand IV

Question Number : 17 Question Id : 6404118337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the plants with the following characters in a sequence,
(Bob ofmren fo InHoH 505 (E506° mioSod.

A) Annual plants found in dry weather

£y lerosed 268 D8

& o o

B) Submerged in water without rooted in mud

NBE" Smh F8EE® s GorHome Gotron
C) No contact with soil. present on surface of water

SpB888° Jomofo BHowe I &x50E00R GoLraD
D) Perennial plants to withstand prolonged drought conditions

EUSDE wmergrs H0DHOH ST HFTGS
2 =

Options :

2.

3.

Tribulus, Utricularia, Vallisneria, Casuarina

(Bepref, ddEdBatm, O80T, soerlae

*
Casuaring, Salvinia, Hydvilla, Tribulus
soenBar, Seatr Friber, ([Saxod

. i X T P

Tribulus, Utricularia, Salvinia, Casuarina

, (Sexed, a‘b{éﬂ@ge’f@aﬁ;‘q TR DatE, seebae



Utricularia, Salvinia, Tribulus, Asparagiis

D SEyTsatr, FIatr, [Bayed. eTis
4%

Question Number : 18 Question Id : 6404118338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

One acre of trees anmually consumes the amount of carbon dioxide equivalent

to that produced by driving a car for 26000 miles. The same acre of trees also

produce enough oxygen for how many people to breath for a year.

a8 S0 Hrfen 26000 P (Hokrming® dhde T8 COy a8 o grdd®d

Hgren SosEsreod DAGFN0DHE CO, DensH HHrSHn. «b Dorr & 860

a:ir‘&‘aﬁ”% = snob od shob T \wo*ﬁ‘v;\,s SrSols efes ofgot ?

E

Options :
2 human beings for one year

BE Srdden a8 Dok o

10 people for one year

5 % 10 shob sBen a8 DosEtot
18 people for one year

& 3% 2.8 dodétoh

3 ¥ 18 sh08 FHew &8 JoHEBoH
one family for one year

8 Hénoman a8 E’:oeﬁ{g\éoé}
4.8

Question Number : 19 Question Id : 6404118339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Transport of plant growth regulators are always strictly
polarized and unidirection.

Ao (A) ;¥ oHse dobo@ste Sarwe e Relnod’, &8
636 esthrbsot.

Reason (R) :  Organic and mineral nutrients undergo multi directional
transport.

=550 (R) © PolHoh, pow DNsre wls Hdud® Sore Botheron.

Identify the correct option from the following
Bob 86 ¥BS wseY D80S
Options :
(A) and (R) are true. (R) is correct explanation for (A)
(A) 58650 (R) 5859, (A) 8 (R) 583 956w

(A) and (R) are true. But (R) is not correct explanation for (A)

, w (A) 300 (R) D52, (A) 8 (R) 503 956w st



(A) 1s true. but (R) is false
3 % (A)3P%6, 59 (R) 5056 o0

(A) 1s false. but (R) is true
4 v (A) 056 s, 500 (R) 856

Question Number : 20 Question Id : 6404118340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct statements among the following

BobarRE® HBES TrEvR) HBoEN

I Movement of water through apoplast involves crossing the cell
membrane.
ofarg 28 Bodo Bnddo Trt0 TRTE ethih&od.

II. Movement of water through apoplast is dependent on the gradient.

wfarg I8 Soshin Fhinded egriiiHob.

1.  In symplast, water travels in the cells through plasmodesmata.
R05FR Soth 56 Sedo Swro 6l Sea|Bay; wogre ore 26HER.

IV.  Transpiration pull has lesser significance than root pressure for water
transport in tall plants.
IBS Twges® o P Svy wIBEE Sk A8 PTosteos® HKy
[Ereings &ob.

Options :

[ LI

Question Number : 21 Question Id : 6404118341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

No. of ATP. protons and electrons required for formation of 6NH, molecules
m biological nitrogen fixation

£ Siefed TS wegor 6NH, oeashen DHa sekeds ATP, [Srérd Hbak

__— he v gl ‘
SJESEENE: DT
] &l

Options :
L% 8.8.16
16. 8. 8
2. ®
24,24, 48

3. %



48.24.24
4.

Question Number : 22 Question Id : 6404118342 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Correct Marks : 1 Wrong Marks : 0

Loss of chlorophyll leading to vellowing in leaves is

At

HBFOSI Srhe T DiFren DDDVOrHH 570 0850

Options :
Chlorosis
s
.¥ 7
Necrosis

2. B
382

2. ®

Bronzmg

(Emosof

Die-back

4. ® EEJOE

Question Number : 23 Question Id : 6404118343 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Correct Marks : 1 Wrong Marks : 0
Choose the correct statements among the following

Bob 6" 58S ammsen rHgoSod

L In exothermic reactions ‘P’ is at a lower level than ‘S".
63 OFPSE 3G ‘S'Sa ‘P 5 pond® Gonod.

II.  Enzyme activity can be affected by temperature etc. with alteration of
tertiary structure of protein.
83 $8ah Joymed Sty Dabto ouor eSS Fon, J0ED Bairdess
(Perddo Daron.

III. Low temperature denature the protein.
S GEPNESG Erdig DamErdstno Dot

IV.  Ligases can remove the groups from substrate

Triden 5y ST D08 HENmrairen EuhaEon.

Options :

L, LI
, % ILIV
IL IV

Yes

Yes



Question Number : 24 Question Id : 6404118344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Phenomenon that describe the first action spectra of photosynthesis
é(‘jsaaac‘éé Hodirf|8oh Jnds éotééeao@ BBoDD cﬁéfﬁo“‘,;oﬁ.}‘ﬁn

I Ilumination of Cf(.fdopfrorr:
&P 3 o8 (550

II.  Detection of O2 release using anaerobic bacteria
oot er§baire® Dihre edly O,hBosw0

IIT.  Accumulation of aerobic bacteria in red and blue regions of light
2y, HO srodhe S eranBird erfbaire HosahEo

IV.  Cladophora in the suspension of anaerobic bacteria

TaHBErE erSoaire edvonsod® sodd gEPir

Options :

Question Number : 25 Question Id : 6404118345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Arrange the following intermediate substances of RUBP regeneration in the

correct sequence
RUBP acﬁtfbcﬁégw wd\é segigang Kmﬂ{ﬁc O w0 0 (§

I) Ribulose -5 Phosphate
Beg s -5 S

II)  Erythrose - 4 - Phosphate
QOB - 4 -7 S

IIT) Fructose - 6 - Phosophate
PR - 6 - RS

V) Sedohepmlose - 7 Phosphate
RE TS - T ;-céges

V)  Ribose - 5 - Phosophate
56%% - 5 - m\éE

VI) Fructose 1. 6 bisphosphate

Options :



LV.IV.VLI IIT
1. 8

I VL IIL. IV. V. 1
2. ®

IO T0 VLT, VT
3. %

VL O I IV, V. 1
4.

Question Number : 26 Question Id : 6404118346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the incorrect statements among the following

[Bobiarde® $0s°0 armzen HGood

I Electrons from NADH produced i the mitochondrial matrix are oxidized
by complex I
Doefseo|Boir Sr@ss® NADH ed56m 308 oEEHODH DHe HoFHn
- M ooe asdrbabod.

II.  Ubiqunons oxidised to Ubiquinol by receiving reducing equivalents
from complex I

cirD&SS eddtno oo cbrA&T ST drdto Hodo- 158 gobssn

i,

derjoseoi (ieroden Sud atirbdod.
III.  Ubiquinol oxidized to Ubiquinone by transfer of electron to complex
I1L.

CrART'S ol Qi::céfjééﬁaﬁrw -s'_-"%*-édae Bobidaps ;:e:;;f’;;

Options :

Tand I
1.9

IT and IIT
2. 8

I and III
3.8

IIT only
4. 8

Question Number : 27 Question Id : 6404118347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct statements among the following

[Bof RE” S0EE aeaes Hbodhan
v f ] g}

Options :



ABA plays an important role in stratification.
@3&5&@&5 éfijé’s ABA [Sors arlg@ H2rodhdn.

1. ®
Decapitation result in growth of lateral buds.
Bpithdo POEoP 39%53; Soie 2thiier athihdol.
2. \."f W [+
Kinetin naturally occurs in the plant.
s w 3388 Fngec® Siraorr sol HHLD.
Vemalization promotes flowering by high temperature.
IETEAS 5P SEFNE B¢ HITEEED (20D508.
L% L A J

Question Number : 28 Question Id : 6404118348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following

edidcain
List-1 List - 11
S -1 S -1
A, Beggiatoa I.  Photoheterotrophs
afarir 08 SBEPhESD
B. Salmonelia II.  Saprophyte
EIer GresiFo
C.  Rhodopseudomonas III. Parasite
G Arad Sove
D.  Bacillus IV. Chemoautotrophs
g Sl BPaDS Srabodgsin

Options :

u A-IL. B-TII, C-I, D-IV
1.

A-IIL. B-1. C-1IL. D-TV
2.8

A-IV, B-1, C-III. D-TI
3. %

A-TV. B-III. C-1. D-TT
4.

Question Number : 29 Question Id : 6404118349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Based on ICTV systeni AIDS virus belongs to the genus
KIEN ééai%;oﬁéonﬁ AIDS 3655 % (Der&8 JoL50

Options :



Ritro viridae

B D6E
1. ®
HIV
_— AT )
Lentivirus
- BoHIEE
viridae
4 % 268

Question Number : 30 Question Id : 6404118350 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Correct Marks : 1 Wrong Marks : 0

In which of the following crosses. both phenotypic and genotypic ratios at F,
generationare 1 :2 : 1
& 806 Ho8Bwred DI F,865md® §)dties oain eyt D)8 1: 2: 1re

508006

I) Red flowered plant crossed with white flowered plant in snapdragon

Lt

RISt 2ms Dapen So TN Hoa BIwDH Dpw

c o

Znge 3

20

Ho86m

II)  Tall plant crossed with dwarf plant in garden pea
Booode® DD 3w Hba 8 Fn¥) ek HosBwo

III) Plant with dotted seed coat is crossed with spotted seed coat plant in

To&d Fng)d” HHe D€ €585 e Tng) Hdcn Sde D85 E5ddn Sw

IV) A homozygous plant is crossed with a heterozygous plant
Hshoinres Sng) oy Delshohne: JuHw D e0nd Sosdn

The correct answer is

S8 Geirgrio

Options :
LIl

L. IV

I 11
3. ¥

Yes



IT. IIT

Question Number : 31 Question Id : 6404118351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following
B0l &0 eeftdham

List-I List-1T
S565 -1 3565 -11
A) Hugo (le vries I) Chromosomal theory
St B19S EFra* Se Ropodo
B) Sturtevant II) Linkage
£BaroS Srrors
C) Morgan III) Mutations
SPTES &$0587Teen
D) Sutton and Boveri IV) Gene Mapping

Options :

A-TIL. B-IV. C-II. D-I
1.

A-TIL B-1. C-IV. D-II
2.8

A-IV. B-III. C-I, D-II
3. %

A-IL B-IIL, C-I. D-IV

Question Number : 32 Question Id : 6404118352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the wrongly matched one
absed e hhoiiod
Options :
%174 bacteriophase - 5386 nucleotides in DNA
bx174 e g 3@ e - 5386 Hr@@rBGen (DNAS)

1. 8
Bactriophage Lamda - 48502 Nitrogen base pairs in DNA
erS0@r D8 eroer - DNA &° 48502 S(#ed) greden

2.8

Escherichia coli - 4.6x10°% base pairs in DNA
2.5°8 - DNA &° 4,610 gpfesefen



Human cell in haploid condition - 6,6x10° base pairs in DNA

FrHHD Bwod § é%@beﬁ\m 208y - 6. 6x10° groesen o DNA
4.9

Question Number : 33 Question Id : 6404118353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the incorrect statement among the followmg sentences
8ol = 28 B850 amgp““ HBohsn

Options :
The small opening of DNA helix where replication occur is replication fork.
DNA &5gwo 69 mog o =6Ad Of @0dos® HegHd =on odd

) .
EeLzi Gl Evelorvilolvclev

L%
DNA dependent DNA polymerase catalyse polvmerisation from 3' — 5.
DNA w08 DNA 20588 9odstn 3' — 5' 6868 50ron

2. %

The template of DNA strand with polarity 3' — 5' is leading strand.

- 3'— §' gacirddoso DNA 53 piprddhd &f

DNA dependent DNA polymerase catalyse polymerisation from 5' — 3'.
DNA sgr88 DNA 270506 H085m 5 — 3' 646° 950aron.

Question Number : 34 Question Id : 6404118354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A group of enzymes that remove the nucleotides from the ends of DNA and
another group of enzymes that make cuts at specific locations within the DNA
molecule are respectively - - - -

) 50 dgEines DNA 850 Hod Srardbesd &ohcron SHbah HOEY

DNA & 283 Hdered® 3000 shhsron. 0 S0 - - - -

I) Hydrolases II) Dehydrogenases
& TS e Eeds
III) Exonucleases IV) Endonucleases
B aheen S0& K 8ahden
Options :
Lo
1. 8
1I, 11
2. %
IV. 10

3 8



4w ILIV

Question Number : 35 Question Id : 6404118355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Methods which help in the insertion of recombinant DNA into the host

& il ” e & L ——
odgon Snod 8 Hisiodrasd DNA S $enodeeds 5’65;:3 SEeeD

L Selectable marker
Bseo Dobsy 56
II.  Disarmed pathogen vector
#3 &0 BrisD ardrsen
III.  Boilistic method
IV. Micro injection
drg) wodBses

Options :

L% LILIO
" IL M1, TV
IO, IV
3 8
LILIV
4.

Question Number : 36 Question Id : 6404118356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the incorrect statement among the following sentences

(8ot mied® $65°R TR MHEomEn

I) Human Insulin is made in fungus
BHolgre Do FrdS s Saird

IT) Insulin DNA sequences are introduced mto the genophore of E.coli
=005 DNA [Si5rod .88 e Sare'me® @asnige

IIT) Recombinant E.coli produce insulin chains

558 Sod@red .80 s:dS Fendes: Saib Dok
Options :
| LI

) % I only

1T only



ILII

Question Number : 37 Question Id : 6404118357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

It is not apprehence to towards biosafety of genetically engineered crops

iy moa 00R 8083 dow Inge Sg dd ¢de S Sy Sond FY) esfirw
Options :
Transfermg allergins to human

SrdPed” veda) obo

Harmful effect as biodiversity
£5 DS0% FILS (Hersn
2. % §
Change of fundamental nature of vegetable
Errabe STOSHRH Sdradd® Srdnm
3.8
Unauthorised vse of bioresources by multinational companies

osFd ersch Sodnen eshsitorr £5 S5thed DAGFAoHhes
4. &

Question Number : 38 Question Id : 6404118358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Study the following lists

S (Eob T8 egicadio Schod

List I (variety) List II (Insect, pests, resistance)
5% - I (8%50) $%% - II (Beo¥, Hgen, 0E°5EE)
A. Pusa Gaurav [. Yellow Mosaic virus
Spe TES D%y HiY) Iweronk J6H
B. Pusa Sem 2 of Bean II. Stem and fruit borer
TP 2 (D%H) Srossm, Hoin &OUD
C. Pusa Sawani of Okra II. Jassids, aphids and fruit borer
R SR (Bod) e Gen, DHEen HBcH Fero FOTD

D. Parbhani Kranti of Okra IV.  Aphids
SR (crod (Fok) D3Gen
V. Nematodes
The correct Match 1s
28 wond =
Options :

A-V, B-1I, C-1II, D-1

1. 8

A= B=IN, C =1L D=1

2. 8

A-IV, B-1I, C-1, D-II

3. %

A-IV, B-1II, C-1I, D-1
4.v

Question Number : 39 Question Id : 6404118359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Match the following
(B0 8D edsEHan

List-1 List-TT
(Comercial products) (Microbial products)
568 -1 3588 -11
(=B adikes) {ng&;;ﬁ;eé D5\859)
A) Detergents I) Cyclosporin-A
S DETET A
B) Bot}led juice I} Streptokinase
Sreet Soff Bren R
C) Clot busters IIT) Pectinase
fgen FofoHe D8I
D) Immwuno suppressive agent IV) Lipases
Bt g5s alrbolio sedome Baden

Options :

A-TV. B-II1, C-II. D-I
1. ¢

A-T. B-II, C-III, D-IV

2.8

A-TV; B-T1, C-IH, D-T
3. %

ALY, B-L .C-lIl, D1
4. %

Question Number : 40 Question Id : 6404118360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Methanogens
S e
Options :

Anaerobics used to produce methane from cellulosic waste

Do e BN woan erSBatr ESH DGR

&

Amnaerabics used to enrich the nifrogen content of soil

) % 5856° J|Eed Bofrohod warain erdbairen

Earthworm helps in compost formation

" " o —
Sotfsy Soirbe’ ardarine DRErH0

3. &
Fungi living in symbiotic association with plants

L% Inges” 58 Sordsdo Dot 3Dojgren



Zoology

Section Id : 640411179
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40

Section Marks : 40
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 640411179
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 6404118361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find the mismatched pair.

Options :
Alpha diversity - Diversity within a habitat
wemy BARO = warHod® Do
]. o =T = R
Beta diversity - Diversity between ecosystems
e 3Deo - D98 wte HEge S H8Eo
2. % '
Gamma diversity - Diversity at the genetic level
ST Ao : s rond® Do
3 ] [ -] =
Species richness - Number of species m a given area
a8 ey . 263 [arodos® S06 ereée Sogx
4. % ] QEF = =

Question Number : 42 Question Id : 6404118362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

It is not considered an alien species in India

56 GRES0E Store PIBSE 8 5.

Options :
Lantana
| ® EPOETTT

Nile Perch

3G 25

2.

Parthenium

PODao
3 8 =
Echhornia
gseG)ale
4.% =%

Question Number : 43 Question Id : 6404118363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Arthropods are schizocoelomates.

28 &o (A) i @@%Em gL B08 HHE EHen.

Reason (R) . Coelom 1n arthropods is formed by splitting of
mesoderm.

=830 (R) : @:‘E;%E@éa Soggrso HO €88 Hirdo D LE0s.

Identify the correct option from the following
Bod &S <88 oyl 1o8oiobs
Options :
(A) and R are frue. (R) is correct explanation for (A)
(A) So8ci (R) dzo. (A) 2 (R) 885 D5
1.v¥
A and (R) are true. (R) 15 not correct exlanation for (A)

(A) £8c5 (R) Do, (A)2 (R) 8% 9580 =

2. %

(A) 1s true. but (R) 1s false
(A) a0, =0 (R) D=0 ==
®

3.
(A) 1s false, but (R) 1s tiue
(A) Qa0 =%, =D (R) =0
4. %

Question Number : 44 Question Id : 6404118364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Study the following and identify the cormrect option.

808 momred ©idhdo DY 558 sy MboSod.
S 3 o NS5 (WG

Statement I Synaptic transnission occurs in one direction from

presynaptic neuron to post synaptic neuroii.

wodo I : hSm Sofod edSieso a8 B38° w6 e Hob ety ESn0
208 b S Hob H6 TEswo Py s=dorbaiod.
Statement IT The presynaptic membrane contains receptors for
neurotransmitters
wodo II : 6 ofirsees aodod [PPSR o0 Seadob el inloy)
08I 000.
Options :

Both statement I and II are correct

woaeen 1 subain I 885D
1. ®



Statement I is correct. but statement II is incorrect

) @odo I H856 =20 wodo I X856 soeh

Statement I is incorrect. but statement II is correct
wodo I 58258 s=th, =20 wodo I EBHE

3.8
Both statements I and II are incorrect

eozeen I ook I 5058 895
4. ®

Question Number : 45 Question Id : 6404118365 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Correct Marks : 1 Wrong Marks : 0

Neurilemma around axon of a neuron is formed by

TEEm0 @) HSolBsEo Shear b8 S:-qj,ééé')

Options :
Ependymal cells

Q0G0 Searen

1. %
Microglial cells
DEACHS Seren
2. %
Schwamn cells
S Eearen
3. ¢
Oligodendrocytes
, 2O GoIE RSw

Question Number : 46 Question Id : 6404118366 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Correct Marks : 1 Wrong Marks : 0

The following are the names of some non-chordate animals.

= = e 2
808 B 70 5908 moddy 28 sdiarron.

i Luspongia II. Aurelia IIT.  Beroe
e cesoe eSOair de®

IV. Taenia V. Wichereria VI  Comnvoluta
Saate &&£00ae SaRermdr

Identify the flat worms among them
THE° aedthy) Db DEodod

Options :

Yes

Yes



I I

IL IV
2. &

IV. VI
3. ¥

L VVI

Question Number : 47 Question Id : 6404118367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following.
ol T80 sditdod.

Zoological name Common name
aaoéa&@dﬁ: TS0 Soetn T5o
A) Pila I.  Water flea
Der b &
B) Lepisma II. Spider
Q) Daphnia III.  Apple snail
T o 2hd B8
D) Aranea V. Scorpion
doRdote Ben

V. Silver fish
Sod 3%

Options :

A-M. B-V, C-L D-1I
1.

A-II, B-1. C-V, D-TII
2. %

A-T B-V. C-T, D-1IV
3. %

A=TV, B=IL C=1, D=V
4. 8

Question Number : 48 Question Id : 6404118368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

It is the fore runner of thyroid gland of vertebrates
B0 Sndyoh EEhes® edtniosr (Foron (Hof) Grarodto TohEos.

Options :



Atrium

L% =|Bcbo
Endostyle
wosb 8080

2.

Pharynx

3 8 (e
Test
go80

4. %

Question Number : 49 Question Id : 6404118369 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Correct Marks : 1 Wrong Marks : 0

Study the following and pick up the correct combinations.

(B0t wozren egiohio

S, ot i D Lo VUL s s A g
DR {0 HEDoDwd Mbodod.

[~

SL.No Classes Features Examples
3.5, Qg oD St erielal )
I Osteichthys Filamentous gills Scoliodon
=80 o Bes Fwal)en OEFTED
IL Amphibia Sternum appeared first time | Ichthvophis
egichioen &% InsSFOr H6B00. | asarpd
111 Reptiles Temporal fossae Bungarus
f;é@i‘va}) Sosrgraen oSS
V. Aves Corpus callosun in brain Corvis
Sen (H5E) Dt =05 80 SURE
Options :
L% LI
IT. IIT
2.¥
. IV
3 8
48 LIV

Yes

Question Number : 50 Question Id : 6404118370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Filopodia are found in this animal
% 20@HDHE° HEPPACT sotron:

Options :



Eughpha

| G 5l

Euglena

afefiae
2. %

Amoeba

eéber
3 8

Elphidium
JO)Babo
Q

Question Number : 51 Question Id : 6404118371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) . Binary fission in Euglena is called symmetrogenic
division.

&80 (A) : atredod® SrerdaR BRYE°ERE Dyms wotrd.

Reason (R) : Plane of fission m Fuglena 1s at right angles to the

longitudinal axis of the body

=50 (R) D divfos® 098 deo Tio End) vohd ozl
202 w08® wihdos.

Identify the correct option from the following

Bod =&s° $B% oi==Q) HBoSed

Options :
(A) and (R) are true. (A) 1s correct explanation for (A).
(A) H8dsw (R) Qzo. (A) & (R) 888 58es.

1. 8

(A) and (R) are true. (A) 1s not correct exlanation for (A).

(A) 085w (R) deo. (A) & (R) 588 0580 =0

2.8

(A) 1s true, but (R) 1s false.

(A) Qezo, =R (R) dezo ==%.
3.¢

(A) 1s false, but (R) is true.
(A) Qeo =, =0 (R) Qz0.

Question Number : 52 Question Id : 6404118372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Match the following

|5ob ae&D adibdod

Parasites Infective stages to man
Soepdden SrBB08 ToEME Bdw
A)  Entamoeba histolviia i Sporozoite
Dotdver Srigsse T Freronts
B)  Plasmodmum vivax II.  3rd stage microfilaria
PyBEano Jar) SresS 68 iEfpdsere
C)  Ascaris lumbricoides III.  2nd stage rhabditifor larva
@508 ewodisranisn Bods &4 W?éﬁjc@ o,
D)  Wuchereria bancrofti IV.  Tetranucleate cyst
BE06atr aro(s g Sdyolts §°o

V. Gametocyte

Bestes é.:c-p:i;g\;_ésao

Options :

. A-TI, B-1IV, C-1I, D-1I
1.

A-TV. B-1L C-V, D-II
2.8

A-IV. B-1. C-1III. D-1I
3.

A-1. B-IV. C-III. D-II
4. %

Question Number : 53 Question Id : 6404118373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Parasite that causes african sleeping sickness.
STERH0E S8 AT THH SorEdtn Soeg) €3,
Options :
Ascaris

_?.—30'\.'" =
&

e

ATV

1. ®

Tivpanosoma

(S5
2.¥

Plasmodium

3 % FI9GEADO



Wuchereria
4w G800t

Question Number : 54 Question Id : 6404118374 Question Type : MCQ Option Shuffling
Correct Marks : 1 Wrong Marks : 0

Pick up the wrongly matched pair.
Ao &) exdid rhfodod.

Options :

Entamoeba histolvtica

Plasmodinm vivax

=N TN S
PGS abo Jaeh)
) % P glaTm3]

Ascaris [umbricoides

@08 enoidiscands
3. &

Wuchereria bancrofii

L s806atr ero(s™y

Cart wheel shaped nucleus

208 H(go esds Solfido

Haemozoin granules
Sardoand Sroden

Mammillated eggs

L=,
SEPEBE (105
2 AN Y

Oviparous

e-_c-off@t;déo

: Yes Display Question Number : Yes

Question Number : 55 Question Id : 6404118375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Statement [

called tegmina.

wodo |

Statement I1

First pair of wings in cockroach help in flight and are

TROESD Fwid @l Ben JKBLos® S mran. HED Calgi
WoLrd.
In cockroach arolium helps in locomotion on smooth

surface and plantulae are useful in movement on rough

wodo II : ﬁ“@oﬁé’s e8¥0aho DD dvo e, FHLB KD dwo
e KaeRd S8seon.

Identify the correct option from the following

Bod &S STl DRy ro8oiol

Options :

Both statements I and IT are true.

wozren [ ddn 11 $538%88.

Both statements I and IT are false.

woen | SHbdiw I $3ED =&

2. ¢



Statement I 1s true. but statement IT 1s false.

wodo I ¥B%8, =R wodo 13386 =&

Statement I 1s false and statement II 1s true.
wodo [ NB8s ==, =R wodo Il $oR&.

4. ®

Question Number : 56 Question Id : 6404118376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The last part of the proctodaeum of cockroach is
£°008 Gy sranigo UX6 griio

Options :
Tleum

| v 3sero@so

Colon
mw%,ri,

Rectum

H65Tgo

3. &

Mesentron

Evsiagdell:fe!
4. % L

Question Number : 57 Question Id : 6404118377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Study the following statements regarding osmoregulatory adaptations in
marine and fresh water fish and identify the correct statements.
mEmlE SHbadw H0008 Jde [Beriisidn SHhd ediroTod donofod (Bo

BOTON O Giéﬂ wWh WHEEHS «BD hBodod.

7 Marine fishes actively excrete excess salt through their gills.
SEmiE Tden E5 Fwae TRoe ©HE el HHGIoD.

II.  Fresh water fishes have glomerular kidney
$0208 B0 FHtyed dr@horren sotran.

III.  Marine fishes facing the problem of exosmosis
HE0(E Dden ardey (Barpitn Sk Hotron.

TV.  Fresh water fishes have salt excreting chloride cells
H0D08 Ve vwred DXgoD FB8 Swrud SOA sotran.

Options :



I. I and III

I II s0Bain 1T
1. ¢

1. III and TV
) % L I 58050 IV

II and III

IT 358050 111
3. %

I and IT

I 3508t IO
4.%

Question Number : 58 Question Id : 6404118378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following,
[Bof TR0 saiddod.

Pollutants Control
srenilpEo Dcho|ges
A) Particulate matter L Catalytic converter
Beaotirsd Seopen SHBBE S5605,
B) Carbon monoxide 1L Scrubber
S48 TR G
C) Sulphur dioxide IIL Incinerators
Benb Soirad e;‘.’-‘%ac';é{jae agholgeen
(Y LY il
D) Hospital wastes IV. Electrostatic precipitator
SR8 Sooeen DOEPSE 226
= TE R B B =

Options :
A-III B-II. C-1I, D-IV

A-TV. B-1I. C-II, D-TII
2.

. A-TIV, B-II. C-1I, D-TII

A-TI. B-1. C-IV. D-1I
4. %

Question Number : 59 Question Id : 6404118379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

This bacterium convert nitrites into nitrates.

o T a
dﬂ.@fj&uo

¢G-
i

o T =
E!t\j;__"ueua;éu S|Eenenre A

Options :



Pseudomonas

Nitrobacter

rjffq ch‘%o
2. ¢

Nitrosococciis

Jereetss
3 8

Thiobacillus
GarerRon

Question Number : 60 Question Id : 6404118380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) . Gastric juice plays an important role in absorption of

vitamin B1 .

8880 (A) T DS B1j & =88 8o Swogy &g HEFR06.
Reason (R) . Gastric juice contains Castle's intrinsic factor.
=80 (R) . ad8d08® oS 2ol@R)E 8% Gotnod.

Identify the correct option from the following
Bod =&&° $B% aineR) HBood
Options :
(A) and (R) are true. (R) 1s correct explanation for (A).
(A) S8t (R) Qz0. (A) 8 (R) 888 58es.
1.v¥
(A) and (R) are true. (R) 1s not correct exlanation for (A).
(A) o8csn (R) Qezo. (A) & (R) 888 2558 =%
2. ®
(A) 1s true, but (R) 1s false.
(A) Bzo, =0 (R) a0 =0
3. ®
(A) 1s false, but (R) is true.
(A) Rezo =28, == (R) Q0.

4. %

Question Number : 61 Question Id : 6404118381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Pick up the incorrect match.
3850 s MHBodod.
Options :
Tidal volume - 500 mL

BES areren - 500 mL
1. ® h

Inspiratory Reserve volume - 2.500 mL
5 % &saf:gé Dend) Hoddtsarno - 2.500 mL

Residual volume - 1.200 mL

©5ER 505 reo - 1,200 mL

Expiratory Reserve volume - 3.000 mL

4 D Densd HidHdsdreo - 3.000 mL

Question Number : 62 Question Id : 6404118382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

These structures of human heart are functional in embryonic stage, but are
non functional in adult stage.

5590 Wore® BossEs® Bairdgorr 408, B8 §48° Bodirsor @l
JTEPER,
Options :

Valve of Thebeseus, Mitral valve, Ductus Botalli.

PECHD Sardro, Migd Sareo, EED Ferd

Foramen Manro. Eustachian valve. Ductus arteriosus.
SiFdolgo, oSHapAAHS Sarto, $50 efB@FND

Fossa ovalis. Mitral valve. Ligamentum arteriosum.

'Eé’

s s F 208, Soied Saeeo, HIos0 ehbd@rdo

Foramen ovale. Eustachian valve, Ductus arteriosus.

=< = . \nd = & -4 S
PoehS 2.6, airaROabs Sarto, G50 sRBErIS
4. =

Question Number : 63 Question Id : 6404118383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Study the following and identify the correct option.

Bod wozels E—Cﬁaﬁaﬁo 5% S8 winsf) ool

Statement I  : The juxtaglomerular cells release renin in response to

decreased blood pressure.

-

wodo | : B8EHES0 SABYD wgeTdyperd Soren BASKH DH&e
— 7] [l s =
Statement IT Renin directly acts on distal convoluted tubule, leading

to increase blood pressure.

wodo 11 . 3OS (B&fore &r8% KoS88 Top HATB B LHETR
&
2otHéod.
Options :

Both statements I and II are correct.

wozen | Héciw Il Botir EBED.

Statement [ is correct, but statement II 1s incorrect.

wodo I 58K, =0 wodo I $BK6 =t.

2. ¥
Statement I 1s incorrect. but statement I is correct.
wodo [ $T& ==th, =0 wodo Il $3R&.
3 8
Both statements I and IT are incorrect.
wozren [ Hdcin I SBED =.
4. %

Question Number : 64 Question Id : 6404118384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Match the following.

[Bof &l 2aisdod,

List-T List-T1

A)  Ball and socket joint I.  Inter carpal joint
e;:o@ﬁﬁc;héen woss Sdaots e

B) Hinge joint II. Between hmmerus and

Pectoral girdle

HH&Saoth S gherl, &b hpe 55

C)  Pivot jont III. Between carpals and metacarpals
&ords) Sen Sduogo, $85rY W

D) Gliding joint IV. Between atlas and axis
i Sen 254550, w80 6

V. Knee joint
e den
Options :

A-1TI. B-V, C-TI, D-IV

1. ®

A-TII. B-1I. C-1L D-V
2.8

A-II, B-V. C-IV. D-1I
3.

A-L B-IV. C-I. D-V
4. ®

Question Number : 65 Question Id : 6404118385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Study the following and pick up the incorrect combinations.

o e . s —Bm . -
|Bob E etiohio 4R 050 wER0HV HboSod.

S.No. | Cranial nerves Arises from ... Endsin...
.30, Eromihe achendd oo ... wodndly grifo ...
Olfactory nerves Olfactory epithelivm | Temporal lobes of
of nasal chambers cerebrum
(§0°88 arecies TR §56°0 G SoEposta
ersl=t= S0g0 wodsen
1. Optic nerves Retma of eves Cerebellum
B e 3 {88 Kéwo 50000
111 Auditmy nerves Iﬂtemal ears Cerebrum
See aecen S50 DHen %o
V. Pathetic nerves Floor of mid brain Superior oblique
weired oohen Sl B 666 grrio | muscle of eye ball
Sod|rbeh sy
@55 Soddo

Options :

LI
1. ®

I1. IIT
2.9

1L IV

IV

Question Number : 66 Question Id : 6404118386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Match the following.

806 80 xdaddod.

Hormone Disorder
ey ©BhE

A)  Thyroxine 1, Addison's disease
Brd o DBIS %6

B) Vasopressin IL Diabetes mellitus
TR RS SAEEn HHoOD

()  Glucoccorticoids IIL Acromegaly
rp&sefsronGen DIE e

D) Somatotropin Iv. Myxedema
Pretierss & &5

V. Diabetes insipidus

LAt 8. B B
BoiraEn ac\E_;Nou cd

Options :

A-TV. B-1II. C-1. D-1II
1. #8

A-V. B-II, C-IV. D-1I

A-TM B-1. C-V. D-1IV

A-TV. B-V,. C-1. D-III
4.

Question Number : 67 Question Id : 6404118387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Pick up the mononuclear phagocyte.
SES0(8E A RN HBoSos.
Options :
Mast cell

% oﬂ:v'?; B30

Histiocyte

SR DES
2. &

Basophil

3 % BEPHS



Oesinophil

P
A8+ sz
Beded i)

4.%

Question Number : 68 Question Id : 6404118388 Question Type
Correct Marks : 1 Wrong Marks : 0

Cells primarily involved in humoral inununity are

Ber|Bisy wbolsesnds® Eroantorr &6 Swren

Options :
B cells
B seren
1.
T cells
T Zearen

2.

NK cells

Macrophages

re ¢85 Bren
% :

4.

Question Number : 69 Question Id : 6404118389 Question Type
Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes Display Question Number : Yes

: MCQ Option Shuffling : Yes Display Question Number : Yes

Part of antigen that binds to the specific part of antibody is called

ety e Z (L
538 daeod® 28

=

vEale DofHEDD (BHeSE grrio

il

Options :
Paratope

- he
aPOREY o)

2.

Biotope

@S

Epitope
- B gﬁg

ododCl

Question Number : 70 Question Id : 6404118390 Question Type
Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes Display Question Number : Yes



Assertion (A) . Colostrum 1s essential to protect the new-born baby

from initial sources of infections.

Ldso (A) D Serd 8555 &0 JolEikne ok 8ol Swltares
(E"‘é‘E@o) e 25580,

Reason (R) : Colostrum contains several antibodies (especially
Ig - A type)

=50 (R) : E“é*@oéﬁ oE Sore (38 Tifen wotrom. (Swggore
I -Ag¥o).

Identify the correct option from the following
Bod =&° B8 iyl 8ok
Options :
(A) and (R) are true. (R) 1s correct explanation (A).
(A) o8¢0 (R) Qeso. (A) 8 (R) £88 D58¢m.

1.v
(A) and (R) are true. (R) 1s not correct exlanation for (A).
(A) So8c50 (R) Qezo. (A) 2 (R) 588 0580 ==

2. %

(A) 1s true. But (R) 1s false.
(A) e20, =2 (R) Qa0 ==t%.

3. %

(A) 1s false. But (R) 1s true.
(A) Bzo ==, =0 (R) Dazo.

4. %

Question Number : 71 Question Id : 6404118391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

This hormone involves in ovulation.

w0 g god® g Strod FEEYS

Options :
Estrogen

1. ® éni?;ﬂaj

2

Progesterone

[rERos
2. ®

Luteinizing hormone

i = woeh S
wx@a@on Fie

3.9



Follicle-stimulating hormone

OS5 SEnBBoh B
€36 i)
4. %

Question Number : 72 Question Id : 6404118392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Infertility due to low sperm count can be rectified by the following Assisted
Reproductive Technic.

BHE 8% S5 SRHPS 20R Rdozdreiras ) O (Eod (Bendd SFahy
FroBsEs oo° 563%3336{,

Options :

Zygote Intra Fallopian Transfer (ZIFT)
FSHAHT Trzross K:ocﬁwgfjav; 288 (ZIFT)

1. #8

In Vitro Fertilization (IVF)
$88 wrir Hob¥smo (IVF)

o

Gamete Intra Fallopian Transfer (GIFT)
FSFHHE Terods So@eK fe 280 (GIFT)

Intra Cytoplasmic Sperm Injection (ICSI)
£l (B35,06%08 HEdmruks s08f Tabio (ICSI)

4.

Question Number : 73 Question Id : 6404118393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
O-group child cannot have parents of following blood groups.
O+fir3) BE5g0 Mo 38y @) S0othen & |Sob B8 Sred 507 &olt.
Options :
Band B
% DBodaon B

AandB
ASBan B

Oand O

O bctn O
3. %

AB and O
AB &8ain O



Question Number : 74 Question Id : 6404118394 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Correct Marks : 1 Wrong Marks : 0

Study the following regarding human genome project and identify the correct

stateinents :

24

S D B 10800 (806 TrEY egiobso Ih KOG wosred HBoKo

b
A
Uz,
2l
9
e,

red
@
@
ed

DR,
i
Y

3PR%) el G0nod.
II. Chromosome 1 has the lowest munber of genes.
135 |§aﬁ®5ig 08 #55 éoajésﬁﬁ eiogihen Botron.
III. Less than 2 percent of the genes code for proteins,
2% o8 S5 axgde (FHSe KosadFo.
IV. The human genome contains 3164.7 billion nucleotide bases.
S5 AT0E" 3164.7 HBabE S8(@d 6 es0ben Sotran.
Options :
TLand IT
I 59800 I
1. ®

IT and III

o 1000w I

I and III
3 I:080sn III

II and IV

II 5080 IV
4. %

Yes

Question Number : 75 Question Id : 6404118395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Karyorvpe AA + XXY leads to
==b@rEa AA+ XXY H¢ 8e0rhd
Options :
Turner syndrome
| x O6F BB

Kleinfelter syndrome

85346 HolB’S
2. =



Down syndrome
3 % T8 Sol5°S
Cushing syndrome

g%0h DolB* S
4. %

Question Number : 76 Question Id : 6404118396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Cystic fibrosis 1s characterised by

B85 o AEBE ionin g
PY8 PE DS Swgy ogmo

Options :
Increased sodium chloride m sweat

Boed® FEdabo EBE whgorr soteo.

Urine becomes black on exposure to air

. M SADNGD Srlgo Sueatdol.
2.

Conversion of phenyl aniline into tryrosine
23 wodT Hod BEHS B o

Replacement of glutamic acid by valine

fietrans wsyo dapdod® S Lo,
4.8 =

Question Number : 77 Question Id : 6404118397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) . Genetic drift tends to reduce the amount of genetic
variation within the population.

L8480 (A) L ey 8}5;&53 S0 28 morgrdt ady 30ove $85rwo
Srpchod.

Reason (R) . In genetic drift alleles with low frequencies are
removed 1n a population.

=80 (R) . ey gsncéga’:.eé S Pdedro KOAY cinorf) Do

sy ol Feofdosd.
Identify the correct option from the following
Bod &S 988 st [g¥]sletutelad
Options :

(A) and R are true. (R) 1s correct explanation (A).

(A) elalevhy) (R) Deo. A& (R) 8BE DS5Bes.
1.¢



(A) and R are frue. (R) is not correct exlanation for (A).
(A) 508050 (R) dezo. A8 (R) 388 258 =%

2.8

(A) 1s true, but (R) 1s false.
5 % (A) Qeo, =R (R) Quo ==%.

(A) 1s false, but (R) 1s true.
(A) Qzo =, =0 (R) Qeo.

4.%

Question Number : 78 Question Id : 6404118398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

This hominoid is more ape like
& FroaronG 875680 858 (ape) 2 98 dotnob.
Options :
Drvopithecus

L v (ETrHREE

Ramapithecus

O ERED

2. %

Australopithecuis

@&55”5%@9”5
3. &

Homo ergaster
FGr dos

4.%

Question Number : 79 Question Id : 6404118399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Tall T-wave of ECG indicates
ECG 62 285 T-88ori0 63 Grdinob.
Options :
Hyperkalemia

Tr56 sodnoir

Hypokalemia
, % ararsedinair

Bradycardia
(erésbatir

3 8



Question Number : 80 Question Id : 6404118400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following.

806 60 madodod.

List-1 List-T1
5%3-1 S8s-11

A) Attenmated whole agent vaccine I.  Polio
Th0EE 58008 Soird SO

| ey ey - P =
[EPsl B e
= Lo ) LY

B) Inactivated whole agent vaccines II.  Guardian angel of genome

QBT oY 18I :§)Sen 25°% Hobgm B
) Toxoids III. Measles
ersnonden fscen
D) p-5 = protein IV.  Diphtheria
p? @85 oot

Options :

A-T[, B-IV. C-1, D-III

A-T B-1. C-TI. D-1IV

2.8

A-I. B-IV. C-III. D-TI
3. %

A-TIII. B-1. C-1IV, D-1I
4.

Physics

Section Id : 640411180
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 640411180
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 6404118401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



If the measured values of the voltage across and the current through a resistor are
(100£5)V and (10£0.2)A respectively. then the error m the determination of
the resistance is

2.8 28580 Fde Dy 0 Hock Tl ouTr WS (Harde Fode Dendenr SGHDT

(1004 5)V 80 (10£0.2)A wand, & 550 B30H0ED 650

Options :

9.6%

Question Number : 82 Question Id : 6404118402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If a body is thrown vertically upwards from the ground with a velocity of
20 m 7%, then its displacement during the last second of upward motion is
(Acceleration due to gravity = 10 m s7)

2.8 559 grdh Hod 88z woworr 20 m s Friod DIBaES, wbfrn KHd05%D
050 DEoHE® TR Rigodo

(Mg #Bmo =10 ms2)
Options :

Sm
1.¢

10m
2. %

15m
3.8

20m

Question Number : 83 Question Id : 6404118403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If a ball released from a height H takes a time T to reach the ground. then the

i 2 ; o
position of the ball from the ground at a tune s

i
H o) H08 2505083 8 208 Towod® grdnd D08,
Aol &Ry

Options :



o | & |

N

3.

[ ]
i,

9]

Question Number : 84 Question Id : 6404118404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

For a particle moving m x-v plane. if at any mstant of time ‘t". (m second) ifs
displacements (in metre) are x =2t" —t and y =4t" —4t, then the velocity of the

particle at a time t=1 s is
Xy $vod® Ehendd) a8 Swo BT wwo ‘f (REel &) HP wd ci}*;é@"o-at@

wn

(30656 &%) x =2t"—t HBa y=41"—4t, woud oo t=15 56 e Swo o

Options :

3ms!

Tms!
2. %

1ms?
3%

5 -1
4 JIms

Question Number : 85 Question Id : 6404118405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A body of mass 6 kg is moved with uniform speed on a rough horizontal surface
through a distance of 200 cm. If the coefficient of kinetic friction between the
swrface and the body is 0.1. then the work done against friction is

(Acceleration due to gravity = 10 m s7)

a8 88 Siross K dwop 6 kg (B50e8 Mo o8 S0H 2868 $588° 200 cm
trdo 8H0oTabdh. Sord8 Hdan HRps Dy 188 s Deso 0.1, wonS
EeS JE08orT eBRS B

(rodedy o = 10 ms™)

Options :

127
1.

2. %

367



487
4%

Question Number : 86 Question Id : 6404118406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the time taken for a block to slide down a smooth inclined plane of angle of
inclination 30° is 4 s. then the time taken by the block to slide down a rough
inclined plane of same length and same angle of inclination is

(The coefficient of kinetic friction between the inclined plane and the block
=0.283)

sren B0 30° Ho a8 S drenduo pRod a8 &3l (BohE ertibi® Oty =°

4 s wowd, w0 Sri) SO0 @i aren 8o o el KNS o goo 2H0d & 6y

(8088 erthtaH Sty w0

(renderD8 SO 6P i KBS D8 Hugo =0.2843)

Options :

Question Number : 87 Question Id : 6404118407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A machine gun with power 15 kW can fire 360 bullets per mimnute. If the mass of
each bullet is 5 g, then the velocity of the bullets is
15 kW seshio ﬁe: a8 H6 Hrd, I8 360 wBSun DePe. a8 mgd
(855078 5 g wond, s @t o

Options :

% 1500 m 57!

-1
v 1000 m s

3600 m <!
3. 0%

500 m s

Question Number : 88 Question Id : 6404118408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The slope of kinetic energy (on y-axis) and linear displacement (on x-axis) graph
of a body gives the rate of change of

a8 S 8 I8 (y-ugon) SHba fol Vow %6 [godo (x-2g03) & e [P Tos)
oen & T°8 @k B0 [rdoi.



Options :
linear momentum
| o OB [5:53353(10

linear velocity
" BEeH Biio

force

3 % ©90

angular momentum
Shob (5o

Question Number : 89 Question Id : 6404118409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The upper end of a wire of length 5 m is fixed to a ceiling and a 20 kg mass is
attached at its lower end. If the wire makes an angle 60° with the horizontal. then
the moment of force with respect to the upper end of the wire is

(Acceleration due to gravity = 10 m s7)

5 m PG o a8 8 20565 PEPH Dhod, el Boh B0 20 kg (Boead
ShDoDTm. @ &K 88e dfrodbod 60°F'mo Tonidd), 8F OIS Sbore oo
igrango

(e éydso =10 ms™)
Options :

200 N m
1. ®

SOO\E Nm
2. %

250\/3 N m
3 8

500 N m
4.

Question Number : 90 Question Id : 6404118410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

As shown i the figure, if a solid sphere of mass M rolling with a speed 'v' on a
horizontal surface strikes a spring of force constant 'k'. then the maxinmum
compression of the spring is

D608 SrHS Dgore M (855008 Mo a8 H5 Ao 'V HAE a8 §fe $5r0Ss Swop

&S oo Joroso k' fo 28 Rnofch =784, © E’g‘-oﬁ gron fgfaks! Sobsso

@ o]

Options :



4.

Question Number : 91 Question Id : 6404118411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the equation for the displacement of a particle executing simple harmonic motion

[g]

36s5i1s
(Time 't' is in second)

m. then the distance travelled by the particle in a time of

: (27t T
Eslel-Ragter)l] Sosos? 65 2.8 B0 @) Ap|god Hansteo x = Ssm‘ E_'_E cm.

2005 36 5 speod® & Swo (HoSrdods drdo

(sem0 't 2506 &°)
Options :
24 cm

1.v

12 cm
2. 8

18 cm
3 8

15 cm
4. %

Question Number : 92 Question Id : 6404118412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

T
If T is the time period of a simple pendulum. then at a time P after the pendulum

passes its mean position

.8 oxm ol Bodts scoo T wond, FPogo ood Srging

Options :



kinetic and potential energies of the pendulum are equal
Sogo @ng) (18es Hda §Be: SHew IS0

the displacement of the pendulum is half of its amplitude
) oo @nE) PI(godo, TR Lol HBWBE® Drfo
acceleration of the pendulum is half of its maxinmum acceleration

Sogo &Bmo, wod K03 Ebmos® Gifo
3. 8

velocity of the pendulum is half of its maxinmm velocity

AV Sfugo Fro, oD gtehs} Sriod® Hrio

Question Number : 93 Question Id : 6404118413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If a body is projected from the surface of the earth with a velocity of Js Vi, then

the velocity of the body when it escapes from the gravitational mfluence of the

earth is

(Escape velocity of a body from the surface of the earth, V.= 11.2 km s7)

28 SRHD ¢ 6bBe0 08 5V, Iros® B850 T, @ 50D e HoHENEsH
Dgrso Do Herahdo DoHddm wd Ko

(ai:c 858800 Hod w8 S Heradd dro, V= 11.2kms™)

Options :

224 km st
1. ¢

11.2 kms?
2. %

1 1.2J5_. km st

3. %

5.6 kmgt!
4. %

Question Number : 94 Question Id : 6404118414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A person of mass 45 kg having leg bones each of length 50 cm and area of cross-
section of 5 e’ jumps safely from a height of 2 m. Ifhis leg bones can withstand
a stress of 0.9x10° Nm™. then the Young’s modulus of the material of his bones
is

(Acceleration due to gravity = 10 m s72)

(58 2508 50 cm ErES o 5 e’ Ferw 050 o 520 oawsen &) 45 ke (508 He
a8 8 2 m o Dok wEiSor Grsud. o8l =g osnsw  0.9x10° Nm™

B80erd) SSPHORE, o4 ) ssnse Sorgd aboR Hsso

(othedy #y50 = 10 ms79)

Options :



225x10° Nm™
1. 8

2.25%10° Nm™
2. ¢

45%10° Nm™
%

1.125%10° Nm™
4%

Question Number : 95 Question Id : 6404118415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The work to be done to blow a soap bubble of radius 3% 10~ m is nearly
(surface tension of soap solution = 20x 107 Nm~ )

3x107 m & c‘Jﬂéo Ko 2.8 Heayp i &tHi Hohsess 52 HSrtmr
(R (o590 T, SodHd = 20x107° Nm™)

Options :

| w A5x1077

45x107°7

45%107°7
3.

4.5x107J
4. 8

Question Number : 96 Question Id : 6404118416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A solid sphere at a temperature of 400 K radiates a power P. If the radius of the
sphere is halved and its absolute temperature is doubled, then the power radiated
by itis
400 K ssffife ¢ rio a8 08¢0 P Jeiood) D860 D, Ao axaroed) o
29, oD 5859 &S5 B8osy D 3253, & Ao D88mo DD Fshho

Options :

1. # *

4P
4.¥



Question Number : 97 Question Id : 6404118417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

When a polyatomic gas is heated at constant pressure. the percentage of heat
given to the gas that is converted into external work is

(Ratio of the specific heat capacities of the gas = —)
2

2.8 axmhssrms arani §B SrSo 5¢ JATRSERH, SranPH adwad eos

o Wty Py -
2Pt odedT et et
b

| 4
(seaing ahog) DB EPE&:UG:Q: Ad = <

Options :

Question Number : 98 Question Id : 6404118418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The thermodynamic process in which the change in internal energy of the system
becomes zero is
8 S5 ) wodss 86° Srdy DTn 40T SHI8E HB0D

Options :
adiabatic process

- %5‘&5 (Si8a%

isothermal process

) o S @8] Pt (D18aD

isobaric process

S o"dzé lgﬁ' (o3
3. %

1sochoric process

2059 $05508re (180D
4.%

Question Number : 99 Question Id : 6404118419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The efficiency of a Carnot engine operating between the temperatures 1000 K
and 300 K is
1000 K &hao5n 300 K ﬁ%{_ﬁ@’@ E.i:-cﬁé éaéoﬁ}:ﬁ-@ 8 0y oio S0 Gng) HES

o

Options :



60%

T0%
2. ¢

90%

80%
4. %

Question Number : 100 Question Id : 6404118420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A closed vessel contains a gas at a pressure P. If 50% of the mass of the gas is

removed and rms speed of the gas molecules is increased by 20%. then the pressure

of the remaining gas is

.8 Srd &) rES® Sudo P 58

E‘J

§ arafnd) S, araing (5eead® 50% 5
2000, Sphd 5&& STEO00EY S50

ik

o

Fofod, Tran sme rms Sy 209

Options :
16

3 8

18P

25
4.¥

Question Number : 101 Question Id : 6404118421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If a sound wave emitted by a stationary source of frequency 680 Hz travels towards

a stationary observer 150 m away. then the number of waves between the source

and observer are

(speed of sound in air = 340 m s7%)

K‘J—é\a?:n@é"’ 63, a8 adfo dob JwHéd 630 Hz oty eadapo e a8 e ddolio

l‘iOmcﬁatéofs DEHLEE 6 af $040DHATDH HairBoDS, 2550 HBAH 680D

w

.@D

sy e dtorre Jogy
(ro&® 0 58 =340ms™)

Options :

| v 300

2. %

o |
th

3. %



450
4.%

Question Number : 102 Question Id : 6404118422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

As shown in the figure, a rod AB of length 5 cm is placed infront of a convex
mirror on its principal axis. If the radius of curvature of the mirror is 20 cnu then
the length of the image of the rod is

5 cm EPSSy He 28 % AB, $e08f 3708 Do 8 Hogrsed &80 Hnoth el
(Frargo e sodadnh . 880 G D o7 —Déo 20 cm wond, & é& B&dono
@) FED

A BL. ..
20cm
Mirror ( o)

Options :

5 cm
1. ®8

10
—cm
21

2.9

10 cm
3.8

5
—Cin
Lx 2

Question Number : 103 Question Id : 6404118423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A source of light approaching the earth emits a light of wavelength 600 nm. If
this light is observed at a wavelength of 599 nm by an observer on the earth. then
the speed of the source of light in km s7 is

(speed of light in vacuum = 3 = 10* m s7)

28 5208 @2d%0 600 nm S5orGY jo o 08 &It TR erind HbaRd.
grnR a8 504058 © oD 599 nm SB0rEY50 B¢ o0, @ Tod wNgo 56
kms! &b

(#5508° se08 56 =3 x 10°ms™)

Options :

250
1. ®



Question Number : 104 Question Id : 6404118424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If three particles of each charge +q are placed at the three vertices of an equilateral
triangle of side J3t. then the net electric field at the centroid of the triangle is
LS +quado o Srd Swud J3r eoe0 Ko a8 SSers [@Beheo Too¥y St

donw 3¢ oD, @ Bebes Solwrglo (centroid) 5 DSE Deigd Sgo

Options :

I q
4me, 1
1. # :
1 ¢
4me, 1°
2. %
1 3q
3 % dne, 1
zero (Foa)
4.

Question Number : 105 Question Id : 6404118425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If an electric generator produces a potential difference of 180 kV m a spark of
length 9 cm. then the maximum electric field generated is

a8 Deips 25006 9 cmPES fo a8 HHHE® 180 kV &raahs gur) SenrEhs,
668 wond 103 Deyd Fgo
Options :

3x10°N C™

) % 10°N C”

2x10°N C™
3. ¢

4x10°N C™
4. ®

Question Number : 106 Question Id : 6404118426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

To decrease the capacitance of a parallel plate capacitor
2.8 FHerodt sode Sarled G SarhaNM Shohed
Options :
a dielectric material is to be mtroduced between the plates

& o = & i —-= =, —
o8 B°%58 Sorord) Sofe Skl (HHE06585
1 %2 o= 2 £3



the area of the plates is to be increased

e 4 = z i
Sede JTremin ROUN85
o ar ol

2. %
the area of the plates is to be increased and distance between them is to be
decreased

3 % Dube geroyd) w0 a8 gy ST SH0UNTD

the distance between the plates is to be increased

se8y Bl Lo 20UNg
4. &

Question Number : 107 Question Id : 6404118427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Two cells of each emf 1.5 V and imternal resistance 18) are first comnected in

series to an external resistance, R and then the cells are connected in parrallel to
the same external resistance. R. If the ratio of the potential differences across the
resistor R i the two cases 1s 4 : 3, then the value of R 15

28958 1.5 Vemf H558an 18 wodd) 5°c§o e Dot sntres &wnd B o8 erds

BP0 R, & dhard SSrostorr o8 arie 28%0 R & 89art. Boh dotonod®

=
@

(‘_,

26%50 R 3 883, 1058 gore A8 41 3 wond, R dend
Options :

550

1. 8

450
2.8

Question Number : 108 Question Id : 6404118428 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Correct Marks : 1 Wrong Marks : 0

The distance travelled by an electron in a time of 3 ns when accelerated from rest

in an electric field of 0.9x10* NC™ is

(mass of electron = 9 = 107 kg and charge of electron = 1.6 = 1077 C)

0.9x10° NC™ ein& Sgfod® Do 28 od 5_(55‘5%60 J06H a8 JuigeS 3 ns e
oo’ (Hairdods trdo

QoS 8508 =9 x 107 kg sdoh Jegs e3ddo = 1.6 x 107 C)

Options :

72 cm
3. ®

Yes



5
4 0.72 cm

Question Number : 109 Question Id : 6404118429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The magnetic field at a pomt P at a distance of 2 cm from a long straight wire of
diameter 0.5 mm carrying a current of 1 A is B. If the diameter of the wire is
doubled without changing the current. the magnetic field at the same point P is

1 AD&x8 (ariro, 0.5 mm o (o el SPE38 830 & Dod 2 cm drdod® Ko
a8 Dochx) P 5¢ eabdros 3@50 B. &5 Ape (5580 ApEDH SrHHor T
arsed)y B0 BHD, @0 Do) PS¢ wchimes §@o

Options :

2B
1. 8

o |

3. ®

w

4. &

Question Number : 110 Question Id : 6404118430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The magnetic force per unit length acting on a wire carrying a current of 44/3 A

and making an angle of 60° with the direction of a uniform magnetic field of
200 mT is

200 mT 2868 wohimos B 638 60° Smo Jowsr 43 A D %S (el
EOACEND) 2.8 Bifp Dol FPEDHD S0Tcin wahFos peo
Options :
1.8 Nm'!

1. ®

24Nm!
2. %

0.6 N ni’!
3. %

1.2 N it
4. &

Question Number : 111 Question Id : 6404118431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Two identical short bar magnets of each magnetic moment 1 A m’ are placed at a
distance of 2 m between their centres with their axes perpendicular to each other.
The net magnetic field at the mid point of the line joining the centres of the two
magnets is

aFE8 1A m’ 9chHake 08 (grsbEo o Both M:):'; SR Brg dotrobamoeeeih, 8
wgren &SR ES vonorT $0b HFoT S Sogren 2 MEFGos® sothdey oMo,
% Both ewahImomre Solpre SO Op Sy HoHD 3‘@ ES woHamod FlFo

Options :

2x107°T
1. ¥

107 T

J5x107 T

3.

JB3x107 T

Question Number : 112 Question Id : 6404118432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The device constructed based on the laws of electromagnetic induction is
“cﬁ:"cﬁcﬁj 108 | a_.'t)Eo' Hohdred asdrhod) dord Jahalds JoHo

Options :
galvanometer

| % TPOEP 5635

electric motor

gj{ﬁ}\@ 'D"!'W{j
2. ®

ohm meter

&5 Hed
3.8

electric generator

D ’:55 =580
4.

Question Number : 113 Question Id : 6404118433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If an inductor of inductance 0.5 UH is connected to an ac sowrce of frequency
70 MHz and voltage 3.3 V. then the current through the inductor is
70 MHz 3rssayisgo sobotn 3.3V ) EE. Mo es ac edgeRs 0.5 uH | moéé\o e a8

o

(ORy 50038, @ (B850 Tmoe DBS (FHarsPo

Options :

L% S mA



7.5 mA
2. %

15 mA
3.9

30 mA

Question Number : 114 Question Id : 6404118434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The elecric field between the plates of a parallel plate capacitor changes at the
rate of 4.5x10" Vmm™s™. Ifthe plates of the capacitor are circular in shape with
a radius of 2 cm. then the displacement current mside the capacitor is

e $irods Hoso Barbel fefo HE) 26ys F@Eo 4.5%10" VmTs? Bens®

)6, Sardeb oS 2 cmaegpro fo ferstod” &), Sarel &de

Options :

L, 020A

L.

0.3 pA
2. %

Question Number : 115 Question Id : 6404118435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A particle is moving with a velocity four times the velocity of an electron. If the
de Broglie wavelength of the particle is 1.5 % 10~ times the de Broglie wavelength
of the electron. then the mass of the particle is

(mass of the electron =9 = 103! kg)

a8 850 JOIES IS Tentd By Fo8° HoirdohihNs. © Seo & wrdh E6orEY,
50, oS & (ardh ﬂﬁéof’BO‘ 28 1.5x107 Bey, wond o Swo [Bioed

L=
(QoEER (teoed =9 x 1073 kg)

Options :

1.5x107" kg

2.¥

2.25x107 kg

%107 k

(S

(]

h
I



eV is used to excite hydrogen gas. then
, B o —‘}w c

EE0EDD

:0
0208 &

{d

Question Number : 116 Question Id : 6404118436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks
When an electron beam of energy 10
R i 2
5 N

the possible spectral line is
BPaS o 10.2 eV 48 e 2.8 Sl

3856 By
first Balmer line

Options
T8 aesob B

1. ®
first Lyman line
IS BHS Ty

2.
second Balmer line
ol

Bo&S erb O
second Lyman line
BokS BHS O

®

4.

nucleus which decays by p-emission is
5) 980550

: '.'ONE

Correct Marks : 1 Wrong Marks : 0
So&" goho Tod , Ne™ So|iiso G

The equation for
MNe? 4V +e

P -&urtod
Options :
f—decay
4)
p-Eab
: T i
+Vie

ml\e
Ne?

i}
\fa*' +e +V

2. 8
f—decay
e
p—tSabo
Pire 4V

Ne?
Na”

0
3. %
f—decay
4)‘
p-zabo

mt\e'

Correct Marks : 1 Wrong Marks : 0

4.
Question Number : 118 Question Id : 6404118438 Question Type

agilal
Question Number : 117 Question Id : 6404118437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

MCQ Option Shuffling : Yes Display Question Number : Yes



Two diodes with zero resistance in forward bias and infinite resistance in reverse
bias are conmected to a battery as shown in the circuit. Then the value of current
1 is

36 EHoe® Hiow AG°F0 Hock HE°FGHOE® wSod BP0 e Dok s@rEe Htod®

SrEE Dgorr a8 ajoét}ﬂé Bendadaron. eond QExd (Haeero 1 Dend

D, 200
>
By
[~
if 400
L
10V

Options :

Zero K;a”;)

Question Number : 119 Question Id : 6404118439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The circuit consisting of NAND gates that is equivalent to AND gate is
AND o7 oedE S NAND orroro 504 e Sodkho

Options :

A

B

1. ®

A—

2.



|D‘-—
.

4. #

Question Number : 120 Question Id : 6404118440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If a linear antenna radiates a power P at a wavelength .. then the power radiated

.
by the same antenna at a wavelength of ﬁ 18

. & s = oy A 5 £ A
#50tig8 10 A c“cg 2.8 BHc% BOBTY) SEBE0 Tow .:.I-.ﬁ:g;_o Pwons, g BOTY) —
: : 3
SE0HPY 50 3¢ HBBwo T Y0

Options :

0. ®
P
L 3
3.0 %
3ip
4.
Chemistry
Section Id : 640411181
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 640411181
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 6404118441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



A spectral line of Lyman series of H-atom has a frequency of 2.466 x 1ot

What is the transition responsible for this spectral line ?

(R=1.096x10" m™ 1)
H-585memde 8505 EA6%0 5556 Bp s 2.466x101°s7 & s5:50 e
S8ead H85850 26 ?

(R=1.096x10" m™ 1)

Options :

n, =2 to n; =1
| 2 1

n,=3to n;=1

2. %
s :F}
;o B2 4 ton=2
n, =35 to ny=

4. %

Question Number : 122 Question Id : 6404118442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the kinetic energy of a particle having wavelength x A is increased to three
times. its de Broglie wavelength (in A) is :
x A B8013Y 50 He a8 Smo Hoeds Durth Ohy BOAD, o=l &i5% L sleatals ity
(A &%)

Options :

L% % s

Question Number : 123 Question Id : 6404118443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

From the following identify the change in which electron gain enthalpy is positive.
Bod 7B Jeoed reaeg &-ozpvéj;:, GargBorr 2= tored SrG Wwhodold. (g=a)

Options :

Li(g)——Li (g)
1%

O(g)— 0y,
2. o



Xe(g)—Xe (2)
3.¥

S(g)——S (g2)
4 %

Question Number : 124 Question Id : 6404118444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Observe the following molecules.
S0,, H,0. HeCl,, BeCly, XeF,, 0,, NO,, PbCl,
The number of molecules with same geometry as that of SnC fz is
Bod wmHed H84D0508.
SO,, H,0. HegCl;. BeCl,. XeF,. O,. NO,, PbC/,
SnCl, 2=8n80 50 &) endde Hogyg
Options .

1. % 6

2.9
3. %

4%

Question Number : 125 Question Id : 6404118445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The increasing order of covalent character of NaC/(I). RbC/(Il). MgC/; (III).
AICI(IV) 1s
NaC/(I), RbC/(I). MgC/,(IT), AIC;(IV) o $éd@redich ofmo 2BN Eo

Options :
L% LILILIV

IV.IL I 11T

3 ¢ ILLILIV

oI L IL IV

Question Number : 126 Question Id : 6404118446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

For one mole of an ideal gas. three isochores were obtained at V. V, and V,
separately. Their slopes are m,. m, and m. respectively. If VRV, <V, then
the correct relationship of slopes is

28 T Elaloewyivined 2RPE e, Vi V, &8a0 V; o 58 S5Ese efomron.

o8 areen HWHTE My, M, Hociu m,. V, <V, <V, ©onad, e HBENN Howolsn

Options :



< &
L w I'I'P.2 1113 1111

< <
1111 1]12 Ill3
2. %

m, = m, =111
3@ 1 2 3

m, =m,=m,
4.%

Question Number : 127 Question Id : 6404118447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

At what temperature rms speed of S0, molecules is 3.16%10° ms™! 2

(R=8314TK ' mol™

DGRBS 55 SO, wmde ms o 3.16x10% ms™! v sotwod ?
(R=8.314JK 'mol™

Options :

480 K

320K
2. ¥

_ 160 K

L« G40K

Question Number : 128 Question Id : 6404118448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In acid medium dichromate oxidizes sulphite to sulphate as shown below.

o5y airdgos® BEHES, 58, .‘»’:E‘e‘;ﬁ?r?: Bof Dpore fj%}é{‘ﬁ»:ao oo,

xCr,02” +yS0; ™ + zZH" ——aCr*™ +bSO; ™ +cH,0

Identify correct statements about this balanced equation

& Hex $DHEGHRINSE Honobod HBIDS g hodhdn.  (only = (@)
I) Sumofxandyis4
X obdin ¥ o 3nso 4.
IT) Sum of a and ¢ is equals to (3 + b)
a $bdiw ¢ © Swdo. (3 +b) H VRS0,
I1I) Sum of x, v and = 1s 11
X, yobcin £ e dwgo 11.
Options :
I, II. 111

1. ®



I, IT only
2.

I III only

. II. III only

Question Number : 129 Question Id : 6404118449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

=
The enthalpy of atomization of CH,NH,(g) 1s 2313 kJ mol !, If Ac_gH and

AN_HH@ are 414 and 389 kJ mol™! respectively, then A C‘—NHe (in kT mol™)
will be (g =)

e
CH,NH, (g) @8 565508860 domd) 2313kTmol ™. Ac_pgH  0am Ax_gH®

e &R 414 $0aH 389 kT mol ™ eowd, A-_yH- (kI mol™ oc®) 208 ?
Options :

293

1.v

Question Number : 130 Question Id : 6404118450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The value of A, H for the reaction

N>04(g)+3CO(g)——>N»O(g)+3CO5(g) (inkJ)is

(Gi\fen.: Enthalpies of formation of CO(g), CO,(g) N,O(g) and N,O,(g) are
respectively —110, —393, 81 and 9.7 kT mol™})

N,O,4(g)+3CO(g)—> N,0(g)+3C0O, (g) o3 JGgE AH Deond

(kT o)
N3G : CO(g), CO,(g) N,0(g) Hocm N,0,(g) © Jogkes Jogrdymn SH6me
_110, —393, 81 60%» 9.7 kJ mol™}) (=)

Options :

+678

1. %

—078

Question Number : 131 Question Id : 6404118451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

At T(K), the equilibrium constant for the reaction N,(g)+3H, (g =——=2NH, (g)

is 6 x 1072. At equilibrium if the molar concentrations of H, and NH, are 0.25 M
and 0.06 M respectively, the equilibrium concentration of dinitrogen

(inmol L) is

T(K) 58 N,(g) + 3H, (2) == 2NH, (g) 55 $:5e38 yoroso 6 x 1072, 5y

¢ H, 2060t NH, o Srerb regiden S8 0.25 M 280 0.06 M oond Z3(*eS
$5e98 e (mol L™ o) (g=a)
Options :
2.84
.
3.84

2.9



Question Number : 132 Question Id : 6404118452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following aqueous solutions has highest pH ?
(Given log2=10.30.log3=0.48.log4=0.60.log 5=10.70)
Bob aoimrHeres® B8 1851 PH soénod ?

(%6 log2=10.30,log 3 =10.48. log 4 =0.60. log 5=10.70)

Options :

L 0.2 M Ba(OH),

0.02 N Ba(OH),

2.

5 0.1 M NaOH
0.05 M Ba(OH),

4. %

Question Number : 133 Question Id : 6404118453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is not related to the removal of permanent hardness of
water ?
Bod &P 06 HB g S biishn Fefostioed Sowogrd)) 8D Goith ?
Options :
| % N32C03

NaA/SiOy

3. %

Nﬂ3PO4
4. &

Question Number : 134 Question Id : 6404118454 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Correct Marks : 1 Wrong Marks : 0

The E is highest with negative sign for the alkali metal 'x' and lowest

)

M7 (aq)M(s)
with negative sign for the alkali metal 'v'. In flame test. the characteristic colours
of x and y are respectively

(]
M*(aq)M(s)"

Baeai e 850, wRoe HOES° x 08 ¥ & oherEBE Borben SBdT

"o OEE8 S KRS K80 Hbon YV wdh gustiFs

Yes



Options :
Blue. Yellow

8

Rexg, D

. ESPSVIS)
1.

Yellow. Violet

) S0y, Saoe
Yellow, Crimson red
$H03), SoHdom
Crimson red. Yellow

BoHBor, HD
4. &

Question Number : 135 Question Id : 6404118455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Consider the following
Bo& =E H8i R0t

Statement-I : The products formed when diborane burns in air are B,O.,
H, and O,.

il | ; Qﬁéﬁ TOER 50885 DY Boiresmgen BEOB-‘- H2 o8BS
0,.

Statement-11 ; Hi’bl‘idiza‘[iou of boron atom in orthoboric acid is sp?.

o 11 : @.5;5585 oo’ oS H8Srwd Gnot) Bo¥BEseo sz.

The correct answer 1s
Options :
Both statement-I and statement-II are correct
?és:;é-l o850 o—;"ésp;-H o HBIERY.

1. %
Both statement-I and statement-II are not correct
aﬁc:a:é-l D080 07‘58535-]:]: Botir JBEDED =D,
2. ®
Statement-I 1s correct. but statement-II 1s not correct
:?c:agé-l JBTR. = azspa-ﬂ DOGHRH ek,
3. %
Statement-I 1s not correct, but statement-II 1s correct
o—,'gsp;—l RBTRE =, =8 S 35-11 LBGRS.
4.

Question Number : 136 Question Id : 6404118456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



In which of following set. both the substances have same hybridisation ?
Boh o S8t Both Zjancgesj 2.8 YobB8sesna® dotron ?
Options :
Diamond, Buckminster fullerene

= = o=
Gauoh, HENd PHedc

1 # B
Graphite, Buckminster fullerene
265, 2880056 HeoS
2.¥
Carbon dioxide. graphite
00 GEsG, [mad
3. % - =
Diamond. carbon dioxide
4 Gok, soS etk

Question Number : 137 Question Id : 6404118457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the herbicides from the following
Bob T8 gend 51}5’(1@ e o,

a) DDT b) Aldrin ¢) Sodium chlorate
DDT (LT (at] FPhoho &8
d) Nicotine e) Sodinm arsenite
DEBS Phobo =83
Options :
Lo G
o ® 4, d
;% b.C
r d.e

Question Number : 138 Question Id : 6404118458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Electrolysis of aqueous solution of potassium acetate gives an alkane (x) and
CO,(y)at anode. The volume ratio of these two gases x and y at STP is respectively
Ertriioho QDB esomeEesef)) @&g&éﬁ&mo 33 o85S (x) S8 CO,(») e a6
la] iaron. € 0oth araingden X &bdin ¥ e HEHdHre D58 STP Y Diore
Options :
1:1

1. ®



2. %
3 1 32
4% 1:3

Question Number : 139 Question Id : 6404118459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The correct sequence of reactions involved in the conversion of n-heptane to
benzene is
H—T‘b“%gél BodSm Eﬁ:“‘é&éo@ﬁ Ba0& 6 Ste [P (Bho
Options :
Oxidation, aromatisation., reduction
e_aéc:,?ééza-o, 6588880, EdhE8es0

Isomerisation. oxidation. decarboxylation

. %ég%{géémo. e.e%:,ééfao, &?Uﬁ;:.ggé)ééeao
2.

Aromatisation. oxidation. decarboxylation

, o5 %éEsamo0, @%\médsa-o. &800'2%;,@@‘55%0
3.

Aromatisation, oxidation. reduction
b d gm0, @gr:.édizo, Eobgdeo

4. 8

Question Number : 140 Question Id : 6404118460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A compound consists of atoms A and B. The atoms of B form hep lattice. The

1 1
atoms of A occupy 3 rd of octahedral voids and zl‘d of tetrahedral voids. What

is the molecular formula of the compound ?
2l HEn¥dsdns® A Hddn B Sdrmdesazon. B Hdresen hep srosedy

) 1
aytoaron. ANSSrensden Eéf) Dot eg7ard Solgreod HBA ;5} Do BgrarEd

5. . -, o
Solpresn eBdaromn. ‘éa}é@%&;\ \‘Lﬂsa;@*ctﬁ:@a,“ wE ?

Options :

- A,B

AB

2



4. ¢

Question Number : 141 Question Id : 6404118461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What are the mole fractions of glucose and water respectively. in 20% (w/w)
aqueous glucose solution ?
(C=12w0=16uH=1u)
20% (W/w) K28 o [medmod® KrE%E $08cin OB B grrren SB0ME Jod ?
(C=12uw:0=16uH=1uw)

Options :

L 0.0244, 0.9756

0.04, 0.96

2. 8

0.0636, 0.9364
3.8

0.0124. 0.9876
4. ®

Question Number : 142 Question Id : 6404118462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A liquid mixture of aniline and 'x' forms a non-ideal solution with negative
deviation from Raoult's law. What is x ?

J0HT HBokn 't © ¥ (55 iFdio TG DeHF0 oD it Dledo I a mﬁé{éé

(oreSeael)) =08, ¥ ©ESs b 7

i
-

Benzene

Bods

Acetone

a5estS
2. %

Phenol

.?_n
e
i

3. ¥

Toluene
eSEEE

s A0

Question Number : 143 Question Id : 6404118463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Consider the following cell at 298 K.

Mg(s)| Mg‘”(r M) || lez+{_1-‘ M) | Zn(s)

[Mg*"]

The cell reaction reached the equilibrium state. What is the value of 102 z 3 = ?
n

298 K 5, (Bob shérd)) H8KHoNos.

Mg(s) | Mgt (x M) || Zn*™ (v M) | Zn(s)

, [Mg*"]
oty S8 BHehal S5ohe. log s Dendd os ?
¢ A
.. 2303RT
E® =236V: E®?_ =076V, 23 I ;
( Me®* Mg 707 \Za = =006V)
Options :
53.33
1. ¢
5.333
2. ®
26.67
3.8
2667

Question Number : 144 Question Id : 6404118464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A —s P 1s a first order reaction. At T(K). the concentration of reactant (A) after
10 min of the reaction is x mol L. After 20 min of the reaction. the concentration

of A was y mol L' What is its rate constant (in 111in_1) 2
A > P oHdb o8 B85 ESrol 585 T(K) 58, St =6A 10 dare SHard

Bofresbo A mgs xmol L7l 38 =8A% 20 divire $%ard A rmgs ymol L7,

Bém %:Ucoé»:’:oa (min ! oft) dos ?
Options :

0.2303log =
v Y

2.303log—

2. 8 ¥

2.303 logL
X

Question Number : 145 Question Id : 6404118465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
Which of the following is the most effective protective colloid on the basis of
gold number values ?

ﬁ'ﬁg Jogy Aende wgedorr (Bob B HH 8D (grerdld HOBEE Seron ?

Options :
Haemoglobin

-
&W°boﬁm“ &) 5

Potato starch

porrEhos o6,
2. % =

Gelatin

L]

)

Gum arabic

Ko wBiE
4. %

Question Number : 146 Question Id : 6404118466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Consider the following
Bod =& H8KBotol

Statement-I : The charge on colloidal particle can be confirmed by
electrophoresis experiment.

g -1 . EPerondd Br0pi0d) saaedy Xrmrads Sndeo
B — a (=% [= % o

(electrophoresis) [HErNo oo QorBokSi Ko

Statement-II  : Whipped cream is an example for Aerosol
e -11 ;. QoSS X amirdn 56095 ED

The correct answer 1s
DOGH Do
Options :
Both statement-I and statement-II are correct
e~ 080k a=gar-1l Sodre KBGHBY.

1. 8

Both statement-I and statement-II are not correct

?53,35-1 Py vlelen o) m;@;-ﬂ Totir IR =,
2. 8



Statement-I 1s correct, but statement-II 1s not correct

r;a}::—I QBTHRH, TR 9?5335-1—_[ LBTRS .
3.9

Statement-I is not correct, but statement-II 1s correct

08yl SBGHND =0, =R Tug-11 SBGHB.
4. %

Question Number : 147 Question Id : 6404118467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The ore. concentrated by froth floatation process is
8BS HBch oxoe Fro|hEBoSats S8 Pl
Options :
malachite
L% Breses
sphalerite
STEnes
, @ A8
bauxite
arByes
3. =
zincite

-
2083

4. ®

Question Number : 148 Question Id : 6404118468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following
Boh B0 eedhsin

List-I (Molecule) List-II (Bond angle)
erdlar-1 (0m05h) eree-1I (ot58%s0)
A) NH3 1) 102.2°

B) O, II) 107.8°

C) S, IIT) 93.6°

D) PH, V) 117°

The correct answer is
800 Hegeio
Options :
A-IIIL. B-IV. C-1. D-II

1. ®

A-IL B-IV. C-1. D-III
2. ¥



A-IIL. B-1. C-II1. D-IV
3 ®

A-IIL. B-IV. C-II. D-I

Question Number : 149 Question Id : 6404118469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following

Bob &R asiddEn

List-I (Complex) List-II (Number of unpaired electrons)
st | [;\’;oﬁgo) eeflame-11 (22805t ) $=9_3@35@ o":oapé)

A) [Mn Clg PP~ D5

B) [Fe Fs 1>~ I0) 2

C) [Mn (CN) >~ I111) 0

D) [Co (C204)3T IV) 4

Options :
= A-II. B-IV. C-III. D-I

A-TV, B-I1. C-1. D-III

2.8
3 % A-IIL B-L C-IV, D-1I

L A-TV. B-1, C-1I. D-III

Question Number : 150 Question Id : 6404118470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following oxidizes manganous salt to permanganate in aqueous

solution ?

Bob BE° HB HroKEd ool éoﬂéor‘ﬁéf}:w 20 [rdesost &jé_:éécao oo ?
Options :

H,O,
.8 7 7

Question Number : 151 Question Id : 6404118471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Polyacrylonitrile is used as a substitute for wool in making commercial fibres as
acrilan. The structure of it is

o i i oo P = ; 5 ;
FDIBS°FBSH Srendh (Pegdmohonr aBeghddhs Jfers ovofl &¥hen

& Che 3] [
&

S AcHERE S5G@EATMm. HD @ Domso

Options :
—CH,-CH }-
|
L% NC
—CH, -CH3-
|
5 % OH
—CH,-CH -}
|
3¢ CN
—CH,-CH3-
|
NO,
4, % =

Question Number : 152 Question Id : 6404118472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a non-reducing sugar ?
Bob 86 HB Eohides J58 s ?
Options :
Glucose

Fructose

Maltose

St

Sucrose

YoEbE
4.9 s

Question Number : 153 Question Id : 6404118473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The disease caused by deficiency of pyridoxine is

BEED &% By esen)
& 0y

red

Options :



Rickets
SE
| % Bsts amgh
Convulsions

Sean 8%o
2.9

Scurvy
36;;55‘ argld
3.8

Beri - Beri

@0-a30 g
4. %

Question Number : 154 Question Id : 6404118474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the pair which is not correctly matched
Bob @S Jbre adB0hatd aotid HBobod
Options :
Aspirin - prevents platlet coagulation

L L L + =
LB - EIBETen KEEY SH VB HHH

1. ®
Histamine - dilates smooth muscle in bronchii
SRS - THareradt Sk Sotorei HEBoHTRN0
2.¢¥ - b
Aspirin - inhibits prostaglandin synthesis
88 - [Efrrrodde HoBAEED SA508
3. % - '
Histamine - stimulates the secretion of HC/ in stomach
Srans - 28 E0s® HCI i Kerd) e8astbo0
4. % b -

Question Number : 155 Question Id : 6404118475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What are X and Y respectively in the following set of reactions ?
Bod St $Hs&s® X Hochk Y en $H5m 20 ? (red = a|y)

Br,

i

OH X
e red

- (1) Bry /red P
/\g/ (i) H,0

Options :




1. #8
Br
o A -OH
N ik |l
2. ¢ 0
Br /\ l Br
)\/OH ; &
3. %
Br
)\' |
4 % 0

Question Number : 156 Question Id : 6404118476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What are X and Y respectively. in the following set of reactions ?
Bob Se S X oo Y en Sisre 20 2 (light = s008)

(i) NaNO, / HC?

. CH;
273-278K 7 () NaNo, /HC!
= . 273-278K
(1) Cu,Br, / HBr X
- = (1) CoH;0OH
NH, (ii1)Br, UV light
Options :
CH; 7 | CH;j
2
Br Y
OH Br
1%

P o
= 3
S
Br
2. ¥
o
= Br CH
AN
¥ o
OH Br” ¢

3. %



o
Br— s )
®

4.

Question Number : 157 Question Id : 6404118477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is Z in the given reaction sequence ?

Beeds Sovg ESost Z 08 7

(1) ByHg

Bee

NH,OH

C;H X
3¢ (2)H,0.H,0,.0H"

Options :

CH; —(|? - N-OH
CH;
1. ®

CH3CH,CH=N-0OH
2.

CH; - CH, —CH, — NH,

3. %

CH;-CH, -NH-CH;
4. ®

Question Number : 158 Question Id : 6404118478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following compounds give salt of an acid and alcohol on heating

with concenrated KOH ?

Bod @ éﬁa&émﬁ&mé KOH & 3833 sio Gn) edmrd) HHoo5 e,

Options :
Formaldehyde
L TORED
Acetaldehvde
0erDTE

2. 8

Acetone

Acetophenone

~e_sobe ofie
“ oJeatd q)c?m
4.

B

z

355 wiod?



Question Number : 159 Question Id : 6404118479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What are X and Z in the following reaction sequence ? (X forms sodium alkynide.)

. ' / i
partial reductlon#Y H,O/H . T
(C4Hg)

Bod STy (EHoS® X 0 Z ev 39 ? (X P&abho o8RG 5:08.)

L Eohssemo H,O/H"
X Y > 7 (&%)
(C4Hs)

Options :

CH;C = CCH5. CH3CH,CH(OH)CH;

1. ®
CH3C = CCH:;;, CHgCHzCHzCHon
2.8
CH;CH»C =CH, CH3CH,CH(OH)CHj3
3.
_ CH3CH,C =CH, CH3CH,CH,CH,0H
4,

Question Number : 160 Question Id : 6404118480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the amide which gives propan-1-amine by Hoffinann bromamide reaction.
TS BPHDE $558° ErSS-1-S & 5 IPED HBoWHE.
Options :
(@]
CH; -CH, -C—-NH,
1. #8
(0]
CH; -CH-C-NH,

|
CH;

|
3. o



4.

CH3—C‘H3—(|“—NH—CH3
0



